000 “a24ac”
(495) 979-59-00
(901) 519-59-00

eds@eds-privod.ru

electrodrive systems

LF
P | — o
100 | 210
5 |eo0 ﬂ ] 14 na
} ) njl B ]
s T — -t Y- . @ -
{_ EN Cog® ], | m1ease
._*_‘_ 50 16
2 18ty m] OUTPUT
250 ™
300
LF
U | .
100
5 QD'_
Pk T
2 =1t g-—- =t 2| 8 X 0
m+_ =L % - E N %
) L=
t
25 22
LF
| UF | .
1DUidS
F ' = e njl c51_u
gg = | ) t-t1+¢-- o D1|D2|D3|G|T|S
Pk ol FA [230[265/300(14] 4 [16
I - FB [250[300350[18 5 [18
Tl
M...FD
T M...FD M...FA
S| 0|0 |a|n | w| L |w|a|@m|F|@A| R |AD| R |AD
ce6123 [s2 |[m2s | 156 | 273 |2565(5985] 119 | 61 |669.5] 65 | 129 | 146 | 134 | 119 | 108
C612/3 [S3 |M3S | 195 |202.5| 276 |642.5| 142 | 66 |738.5| 74 | 160 | 158 | 160 | 142 | 119
C6123 [S3 |M3L | 195 [292.5| 276 |674.5] 142 | 74 |7655| 81 | 160 | 158 | 160 | 142 | 142
C6123 [s4 |m4 258 | 324 [307.5|7825] 193 | 108 [891.5] 126 | 226 | 210 [ 217 | 193 [ 142
C612/3 [S4 |MALC | 258 | 324 |3075(817.5] 193 | 116 |916.5] 134 | 226 | 210 | 217 | 193 | 193
C612/3 S5 |M5S | 310 | 350 |3335| 869 | 245 | 136 | 1000 | 166 | 266 | 245 | 247 | 245 | 193
C612/3 S5 |M5L | 310 | 350 |333.5] 013 | 245 | 152 | 1053 | 182 | 266 | 245 | 247 | 245 | 245
ce614 |S1 |M1 138 | 264 |2475| 641 | 108 | 71 | 702 | 74 | 103 | 135 | 124 | 108 | 245
C614 |S2 |M2S | 156 | 273 |256.5| 669 | 119 | 75 | 740 | 78 | 120 | 146 | 134 | 119 | 108
c614 |s3 |M3S | 195 [2925] 276 | 713 | 142 | 79 | 809 | 87 | 160 | 158 | 160 | 142 | 119
C614 |S3 |M3L | 195 [292.5] 276 | 745 | 142 | 87 | 836 | 94 | 160 | 158 | 160 | 142 | 142




electrodrive systems

000 “a24ac”
(495) 979-59-00
(901) 519-59-00
eds@eds-privod.ru

OuTPU

T

11

INPUT
C61U

D1|D2|D3|G|T|sS

FA [230|265[300[14] 4 [16

FB [250[300[350[18] 5 18
' I M M1 | M2 N N1 N2 | N3 N4 X P | @&
C 61 2/3 | P63 n_| 128 | 4 140 | 115 | 85 | — | Mex19 | 4 | 4155 | 65
C 61 213 |P71 14 | 163 | 5 160 | 130 | 110 | — [M8x16 | 45 | 4155 | 57
C 61 2/3 | P80 19 [ 218 | 6 | 200 | 165 | 130 | — [M10x12| 4 | 435 | 61
C 61 2/3 | P90 24 | 273 | 8 | 200 | 165 | 130 | — [Mi0ox12| 4 | 435 | 61
C 61213 [P100 28 | 313 | 8 | 250 | 215 | 180 | — |M12x16| 4.5 | 444 | 65
C 6123 [P112 28 | 313 | 8 | 250 | 215 | 180 | — [M12x16| 45 | 444 | 65
C612/3 [P132 38 | 413 | 10 | 300 | 265 | 230 | 16 14 5 | 4815 | 68
C 612/3 [P160 42 | 453 | 12 | 350 | 300 | 260 | 23 18 55 | 532 | 73
C 612/3 [P180 48| 518 | 14 | 350 | 300 | 250 | 23 18 55 | 532 | 73
Cé614 |P63 11| 128 | 4 140 | 116 | 05 | — | M8x18 | 4 | 486 | 61
c614 |P71 14 | 163 | 5 160 | 130 | 110 | — | M8x16 | 45 | 489 | 63
C614 [P80 19 | 218 | 6 | 200 | 165 | 130 | — [M10x12| 4 | 5055 | 67
C614 [P90 24 | 273 | 8 | 200 | 165 | 130 | — [M10xi2| 4 | 5055 | 67
C614 |P100 28 | 313 | 8 | 250 | 215 | 180 | — |[M12x16[ 45 | 5155 | 71
ce14 |Pi12 28 | 313 | 8 | 250 | 215 | 180 | — |M12x16| 45 | 5155 | 71




electrodrive systems

000 “a24ac”
(495) 979-59-00
(901) 519-59-00
eds@eds-privod.ru

515

14 ha

M1 Ex3E

50 hi

QUTPUT

M1Z218
T

o an I

fd .

)

316

178.5 _I
289.5

p1[p2|D3[G[T]S
— FA |230]265|300[14| 4 [16
Tl FB |250]300[350]18] 5 [18
I D | M | M1 |M2| N | N | N2| N& | X
C614 |SK8OB | 120 | 14 | 163 | 5 | 96 | 100 | 80 |Mexi2 | 4
C612/3/4 [SKBOC | 120 | 19 [218 | & | 96 | 100 | 80 |M6x12 | 4 | 435 |5055 | 63/63/69
C612/3/4 [SK95A | 130 | 14 [ 163 | 5 | 102 | 115 | 95 |M8x12 | 4 | 435 |505.5 | 60/60/67
C612/3/4|SK95B | 130 | 19 [218 | 6 | 102 | 115 | 95 |M8x12 | 4 | 435 |505.5 | 63/63/69
C612/3/4 |SK95C | 130 | 24 [273 | 8 | 102 | 115 | 95 |M8x12 | 4 | 435 |505.5 | 63/63/69
C612/3/4 [SK110A | 140 | 19 [ 218 | 6 | 120 | 130 | 110 | M8x12 | 5 | 435 |505.5 | 63/63/69
C612/3/4 [SK110B | 140 | 24 [ 273 | 8 | 120 | 130 | 110 | M8x12 | 5 | 435 | 5055 | 63/63/69
C612/3/4 |[SK130A | 188 | 24 [ 273 | 8 | 142 | 165 | 130 |M10x20| 5 | 435 |505.5 | 67/67/80
C612/3 |SK130B| 189 | 32 [353 | 10 | 160 | 165 | 130 |M10x20| 5 | 4815 | — | 7272
C612/3 |SK180A| 240 | 32 [ 353 | 10 | 192 | 215 | 180 |M12x19| 5 | 4815 | — | 7272
C612/3 [SK180B| 240 | 38 | 413 | 10 | 192 | 215 | 180 [M12x19] 5 | 4815 | — | 66/66
P A
I F?@— Mt D |E|F| G |M|NINIIN2| No | X|pn o3 ls Oyl BB
C614  |SCB0B | M6 15Nm|120155[14.5[17.75| 14 | 96 [100| 80 [M6x12 |4 | — | 529 | 63
C 612/3/4 |[SC80C | M6 15 Nm | 120|15.5[14.5[17.75] 19 | 96 [100| 80 | M6x12 | 4 | 458.5 | 529 | 64/64/70
C 612/3/4 [SC95A | M6 15Nm | 130|165 15 [17.75] 14 [102[115| 95 | MBx16 | 4 | 458.5 | 529 | 61/61/68
C 612/3/4 [SC95B | M6 15 Nm | 130 [16.5] 15 [17.75| 19 [102[115| 95 | MBx16 | 4 | 458.5 | 529 | 64/64/70
C 612/3/4 |[SC95C | M6 15Nm |13016.5 15 [17.75] 24 [102[115| 95 | MBx16 | 4 | 458.5 | 529 | 64/64/70
C 612/3/4 |[SC110A | M6 15Nm |140|16.5] 16 [17.75] 19 [120[130|110| M8x16 | 5 | 458.5 | 529 | 65/65/70
C 612/3/4 [SC110B | M6 15 Nm |140[16.5] 16 [17.75| 24 [120[130[110| M8x16 | 5 | 458.5 | 529 | 65/65/70
C 612/3/4 [SC130A | M6 15Nm |188| 19 | 16 |17.75| 24 |142 165130 |M10x20| 5 | 4585 | 529 | 66/66/81
C612/3 |SC130B | M8 36 Nm|189| 20 | 17 [17.75| 32 |160 165130 [M10x20| 5 | 5045 | — | 75/75
C6123 |SC180A | M8 36 Nm|240] 20 [17.5[17.75| 32 [192|215|180 [M12x24| 5 | 5085 | — | 75/75
C6123 |SC180B| M8 36 Nm|240] 20 [17.5[17.75] 38 [192|215]180 [M12x24| 5 | 5085 | — | 69/69




OOO \!3ﬂcﬂ"

electrorive systems (495) 979-59-00
(901) 519-59-00
eds@eds-privod.ru
C 61...HS
A 133
n 5 1;': ] i,FE4 F3 _.._',ﬁ

[RGERD]

50
[
I —
F i
1
1
i
!
| |
|
i
|
Fi.l_l._
T
85 ‘
1
316
535
1

e Ny ||: . _+" 50 e
S SIRTI OUTPUT
232 250 ?3]
. A
n 100__ B E o5
5 | 80 Fa| F3 144 &7
L
[
= A = DI —s
- = ol w| &
w Ty =
] "
25 ! 22 2230 '
133
210
A
Im 100 B E
s lFa] F2
L
— C61_U
e e 1 N _m___—} o D1|D2(D3|G|T
° N E{ o & FA [230[265300[14] 4
: - - FB [250[300[35018] 5
)

4] | B A B E F F1 F2 F3 F4 v Jo)
C612 532 372 60 28 31 8 5 50 |M10x22 | 66
C613 |HS 532 372 60 28 31 8 5 50 |M10x22 | 66
ce14 575 | 425 50 24 27 8 2.5 45 | M8x19 | 72




